¥ MED

B RoF.E c c _s,
SLEBTEIRZ )M y @
s > { L l
@ o W S o o Pl o f
MAAA 7 G i A G N ]
| R T = S — ol = ol s N

JAVAVAVAN

CFT6(V)~CFT10-1(V) CFT12(V)~CFT18(V)

CFT CFT.V
BCFT 33 T B
= ESillie= Rt (mm) BEATE | BEXTE =X RFFER HIEEETRE S =X RE
BEER ‘ BOE | BRE | NSRS % $RE B
(mm) Bl 4N TRTETSNE
" R500(CF6 ~ CF18)
s A
M fen | B e e D E T O oz |H Bl & | & |t @ O H | 2
= e = s Is f Cr Cor B =58 | BRESNE g
/\ ] HE ] 2] d
h7A%E | TEEHE | HEIE | TEEHE | HEIE | D C |d G Gl| Bl |B2|B3|Cl S1 d2 || s . . N rpm N 5 N-m (k%)
0 CFT 6 CFT 6UU CFT 6R CFT 6UUR 3630 3630 2110 25000
6 0,012 16 11 | 6 | M6x1 8| 28 |16 — |06 M6x0.75 | —|0.3| 11 3430 1080 3 18.5
' CFT 6V CFT 6VUU  |CFT 6VR CFT 6VUUR 6960 8530 2110 12 000
0 CFT 8 CFT 8UU CFT 8R CFT 8UUR 4310 4710 4710 20000
8 0015 19 11 | 8 | M8x1.25|10| 32 |20 | — | 0.6 M6x0.75 | —|0.3| 13 4020 1370 8 28.5
' CFT 8V CFT 8VUU |CFT 8VR CFT 8VUUR 8130 11170 4710 9 000
0 CFT10 CFT10UU CFT10R CFT10UUR 5390 6 860 6 860 17 000
10 0015 22 12 |10 |[M10x1.25|12| 36 |23 | — | 06 M6x0.75 | —|0.3| 15 4700 1670 15 45
' CFT10V CFT10VUU |CFT10VR CFT10VUUR 9510 14 500 7 450 7 500
0 CFT10-1 CFT10-1UU |CFT10-1R  [CFT10-1UUR 5390 6 860 6 860 17 000
10 0015 26 12 |10 [M10x1.25|12| 36 |23 | — | 06 M6x0.75 | —|0.3| 15 5490 2 060 15 60
' CFT10-1V  |CFT10-1VUU |CFT10-1VR |CFT10-1VUUR 9510 14 500 7 450 7 500
0 CFT12 CFT12UU CFT12R CFT12UUR 7 940 9800 93800 14 000
12 0018 30 14 |12 M12x15|13| 40 | 25| 6 |06 M6x0.75 3106 20 7 060 2450 22 95
’ CFT12V CFT12VUU  |CFT12VR CFT12VUUR 13430 19700 | 11270 6 000
0 CFT12-1 CFT12-1UU [CFT12-1R  |CFT12-1UUR 7 940 9800 9800 14 000
12 0018 32 14 {12 | M12x15 13| 40 251 6 |06 M6x0.75 3106, 20 7 450 2740 22 105
' CFT12-1V  |CFT12-1VUU |CFT12-1VR |CFT12-1VUUR 13430 19700 | 11270 6 000
0 CFT16 CFT16UU CFT16R CFT16UUR 12 050 18330 | 18330 10 000
16 0018 35 18 |16 | M16x1.5|17| 52 |325 8 | 0.8 Rc1/8 3106 24 11 200 3140 58 170
' CFT16V CFT16VUU |CFT16VR CFT16VUUR 20680 37630 | 19800 4500
0 CFT18 CFT18UU CFT18R CFT18UUR 14700 25200 | 25200 8500
18 0018 40 20 |18 | M18x1.5 (19| 58 |[36.5] 8 | 0.8 Rc1/8 311 26 14 400 3720 87 250
’ CFT18V CFT18VUU |CFT18VR CFT18VUUR 25280 51350 | 26560 3500
* EEIHE, EB&ERERDE. WRIMET, SAARFEREIZEER 130%. SNERE (um) F4
EATHE, HEMZEER 70%. EZ] E&4NE BRETSNE
CF6 0/-8 0/-50 e
CF8,CF10,CF10-1,CF12 0/-9 0/-50 e
CF12-1,CF16,CF18,CF20-1 0/-11 0/-50 ey
CF20,CF24,CF24-1,CF30 0/-13 0/-50 = —
CF30-1,CF30-2 0/-15 0/-50 ARE Efl
178 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 179




¥ MED

TiERRaFLE
e AL

Bs

d2

S,

e

NS

B:

B:

—

CFT CFT.V
BCFT 33 T iR
= ERKS R~ (mm) BEAE | EAEE =X RIFER BTN =X RE
RIEERE ‘ W0 | BRE | AV % $20% 746
- R1000(CF20 <)
0)>{ 0 S I (e I B o) 0= R 0y i Bl @ | & | | @& O 1 | 2
. s . R | f Cr Cor EESME | BRESNE g
/\ Ik o e ik HErrH .
h7A% | TZEE | TZHE | XZHE | HEEHE | D c |d G Gl| B1 | B2|B|C 51 a2 e | = N N N . N N 2 (K29)
0 CFT20 CFT20UU CFT20R CFT20UUR 20680 34600 | 32140 7 000
20 -0.021 52 24 20| M20x15 (21| 66 |40.5| 9 | 0.8 Rc1/8 4 |1 36 23200 8 230 120 460
' CFT20V CFT20VUU |CFT20VR CFT20VUUR 33120 64480 | 32140 3500
0 CFT20-1 CFT20-1UU |CFT20-1R CFT20-1UUR 20680 34600 | 32140 7 000
20 -0.021 47 24 20| M20x1.5 (21| 66 |40.5| 9 | 0.8 Rc1/8 4 |1 36 21000 7 150 120 385
’ CFT20-1V CFT20-1VUU [CFT20-1VR |CFT20-1VUUR 33120 64480 | 32140 3500
0 CFT24 CFT24UU CFT24R CFT24UUR 30480 52630 | 49500 6500
24 0,021 62 29 | 24| M24x15 25| 80 |49.5/ 11 0.8 Rc1/8 4 |1 40 34200 10500 220 815
' CFT24V CFT24VUU | CFT24VR CFT24VUUR 46 550 92020 | 49500 3000
0 CFT24-1 CFT24-1UU |CFT24-1R CFT24-1UUR 30480 52630 | 49500 6500
24 0.021 72 29 24| M24x15 25| 80 |49.5/ 11 0.8 Rc1/8 4 |1 40 39800 12900 220 1140
' CFT24-1V CFT24-1VUU |CFT24-1VR |CFT24-1VUUR 46 550 92020 | 49500 3000
0 CFT30 CFT30UU CFT30R CFT30UUR 45370 85 060 73700 5000
30 -0.021 80 35 30| M30x1.5|32| 100 |63 |15 1 Rc1/8 4 |1 46 52 600 14900 450 1870
' CFT30V CFT30VUU |CFT30VR CFT30VUUR 67620 | 144060 | 73700 2200
0 CFT30-1 CFT30-1UU |CFT30-1R CFT30-1UUR 45370 85 060 73700 5000
30 -0.021 85 35 30| M30x1.5|32| 100 |63 |15 1 Rc1/8 4 |1 46 56 000 16 100 450 2030
' CFT30-1V CFT30-1VUU |CFT30-1VR |CFT30-1VUUR 67 620 144 060 73700 2200
0 CFT30-2 CFT30-2UU |CFT30-2R CFT30-2UUR 45370 85 060 73700 5000
30 -0.021 920 35 30| M30x1.5|32| 100 |63 |15 1 Rc1/8 4 |1 46 59 300 17 300 450 2220
' CFT30-2V CFT30-2VUU |CFT30-2VR |CFT30-2VUUR 67 620 144 060 73700 2200
* EEEHE, EGEERERE. IRIEHEE, RXAFERZLIZEER 130%. SNENE (um) [ikaa
EATHE, HEMZEER 70%. E=i] Bl E IRIEANE]
CF6 0/-8 0/-50 e .
CF8,CF10,CF10-1,CF12 0/-9 0/-50 e
CF12-1,CF16,CF18,CF20-1 0/-11 0/-50 o
CF20,CF24,CF24-1,CF30 0/-13 0/-50 e . S
CF30-1,CF30-2 0/-15 0/-50 ik B
180 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 181





